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1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19
67 4 32 — — — 8]132C3 115 0,6 2 27 36 300 2(e) BCP “°‘6y"°l’_:;:'i‘°"°““°”i 24 HE BUABJICHO
67 13 1.8 — —_ — 10[3+C3 115 0,5 2 27 36 230 2(e) BCp | CTordvpono-onopemant 21 He BUABIEHO
69 8 2,0 — — — 8/132C3 100 0,55 2 26 32 275 2(e) BCP °’°’6“’°:§:’1‘i‘°"e““°“ 14 HE BHABIIEHO
138 14 0,9 %)) 0,5 0,5 9C31 /3 90 0,70 1A 30 40 450 2 BCP ""“""3‘;;;3‘;?:"’"“"‘ 12 HE BHABIICHO
158 3 0,3 — — — 8C3(51)2C3(65) 51 0,80 1A 23 24 400 2 BCPp | Fovmexe crosbyponiex 57 HE BHABNEHO
LUKIIBHKIB
g 158 15 2,2 — — — 9C31bn+/3 70 0,80 1A 26 32 420 2 BCP ‘“’“’”‘:‘:i;‘;fj"“"‘ 19 HE BUSABIEHO
5 175 12 0,3 — — — 10C3+bn 70 0,70 1 24 30 370 2 BCP "°“““f::i;f:fj"°“"‘ 43 He BHABIIEHO
<3 206 | 22 0.6 - — — 9/1a1T's 75 | 060 1 25 28 230 2 BCp | Tostvpooocpeiani)  og HE BUSIBIIEHO
;2 221 7 43 — — — | SHs3CsIng+m+sls | 105 | 050 | 2 26 32 240 2 BCp [CTosdporcorspemant| g He BUSBIEHO
226 18 04 — — — 10/[3+C3 115 | 060 2 26 36 270 2 BCp | Comvpono-oropenont 50 He BUABIEHO
227 13 7.1 o 40 40 00s+CotBaw+ ¥ty | 115 | 0,55 2 26 40 240 2 BCp | Crotvpose-oropenont 13 He BUAB/EHO
227 26 0,6 — — — 7C31Kir1 Buwsl /I3 66 0,65 1A 27 28 300 2 BCP "°”"":f;;:f;"’°""‘ 33 HE BUABJICHO
239 27 16,4 ) 10,0 10,0 5C34/31 AkG+bn 78 0,60 1A 29 32 310 2 BCP “°“""fl‘l‘;;‘;f:"°"“‘ 11 He BUABJICHO
243 3 11 ) 0,1 0,1 9C31 Ax6+]1s 63 0,65 1A 26 30 340 2 BCP | "o crostipone 40 HE BAABJICHO
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/ 2 3 4 6 7 8 9 10 11 12 13 14 15 16 17 18 19
// o 209 8 12,0 — — 10113 80 0,65 1 25 26 320 2 BCP “"“Gy‘”:::;'i“"”""“"‘ 51 HE BHAB/ICHO
g 209 9 2,7 — — 10113 75 0,65 1 24 28 290 2 BCP ""”5“’°:;;;i‘°"°““"“‘ 37 HE BHABJICHO
% 209 10 04 — — 10Tup 66 0,70 1B 28 30 340 2 BCp | Trotvpororonopenont 20 He BUABIEHO
Lg 209 15 38 — — 10/13+T3 80 0,65 1 24 26 290 2 BCp | Tostvponc-oropenont 44 He BUABIECHO
Pazom: 64,7 14,6 14,6
493 6 0,8 — — 7C33/13 79 0,55 1A 28 36 330 2 BCP “"”"":‘:;:3;?""‘"" 48 HE BUABJIEHO
, 493 7 5,1 — — 9C3l Iz 79 0,55 1A 28 36 340 2 BCP “"“‘"‘:‘:;:fj‘”“"* 18 He BHABAEHO
510 2 3,1 — — 10C3+/I3+Bn 68" 0,6 1A 27 30 375 2 BCP "°”“"f::;:‘l’f§"°""" 9 HE BUSBJIEHO
g 550 7 26 — — 6C34]13 90 0,55 1A 30 36 302 2 BCP "°“““:‘:i;3fj"°‘"‘ 9 HE BHABAEHO
E.i 552 9 1,2 — — 10/(3+C3 120 0,6 2 27 36 390 2 BCp | Toeeposo-oropencont 25 He BUSBJICHO
§ 552 11 1,0 — — 10[13+C3 130 0,5 2 27 36 275 2 BCP °‘°"6~V*’°::;‘;'i‘°"°"""“ 15 He BUABIIEHO
= 557 9 1,8 — — 9J131C3 1o | oss 2 27 36 260 2 BCP | STortvponc-oropenont 8 He BUAB/IEHO
= 557 10 4,0 — — 6C34/13 130 0,5 1 31 48 300 2 BCP "°”“":j:;;:f§""“"‘ 9 He BHABJIEHO
569 1 2,1 — — 10/13+C3 115 0,5 2 28 40 270 2 BCp | Tofporc-oxopencont 17 HE BHABIICHO
569 3 5,7 — — 9/131C3 120 0,5 2 27 36 255 2 BCP °’°‘6Y"°::;:’1‘i‘°"°“"°"‘ 15 HE BUABIICHO
586 1 9.4 — — 6/133Cal Kar 130 0,5 2 27 36 255 2 BCp | Totvponc-oxcpenont 24 He BUABIEHO
Pazom: 36,8 0,0 0,0
Beworo mo JIAC: 101,5 14,6 14,6
Hupextop BIT HYBIll Vkpainu "bospceka JAC" A.l Kapnyk
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